## **Garland Independent School District**

**GISD Sourcing Bid Tab Report** 

Bid#:	31997	Title:10-19 D	ry and Staple
Quote#	Vendor / Supplier	EPCNT	Discount
	*APPLE AND EVE	Yes	0
	ASIAN FOOD SOLUTIONS	Yes	No additional
	BADIA SPICE CO	No	N/A
	BARE FOODS CO *BARILLA AMERICA INC	YES Yes - But	Direct 6 Pallets Discounts are
334333	DANIELA AMERICA INC	Barilla will	
			not listed on this
		Garland ISD	bid, the
ESESES	BASIC AMERICAN INC	No - we would	
333302	BASIC AWERICAN INC	prefer other	minimum
		agencies put	IIIIIIIIIIIIII
E22274	*BRAUN BEEF CO INC	Yes	n/a
	*BUSH BROTHERS & COMPANY	Yes	0
000000	BYRNE BROTHERS FOODS, INC	No	0%
535364	*C H GUENTHER & SON INC	Yes	Percentage
			discount from list
	*CAL-TEX CITRUS JUICE LLP	Yes	0
535386	CHEFS CORNER FOODS	ves	0
E20200	*CHURCHFIELD TRADING COMPANY *CONAGRA FOODS INCORPORATED	No	1/2% Net 10
	CUSTOM CULINARY INCORPORATED	No No	N/A N/A
	ENVY BRANDS	Yes	0
	ES FOODS	Yes	Variable by item
534356	*GENERAL MILLS SALES INC	No	0%
532367	GOOD SOURCE SOLUTIONS	yes	0%
		deliveries to a	
	*HANKS BROKERAGE	ves	No Discount
	*HARVEST HILL BEVERAGE COMPANY INDIAN HARVEST SPECIALTIFOODS INC	Yes no	0 0%
	KENS FOODS INC	No	N/A
	KENT PRECISION FOODS INCORPORATED	YES	N/A. Net pricing
			provided on
534359	*MCLANE EXPRESS INCORPORATED	no	11%
	NATIONAL FOOD GROUP INC	No	0%
534350	NESTLE WATERS NORTH AMERICA	No	N/A
	PARWAY TRYSON	Yes	10%
	PETERSON FARMS FRESH INCORPORATED	Yes	0%
	ROBBINS SALES COMPANY. INC. SMUCKER FOODSERVICE INC	NO No	0
534357	SMUCKER FUUDSERVICE INC	NO	Minimum order
E222C7	CUCAR FOORS CORRORATION	No	requirement: 2,000
	SUGAR FOODS CORPORATION SYSCO USA I INCORPORATED	No Yes	N/A 10%
	THE CORE GROUP SOUTHWEST INC	Yes	0
	THE MASTERS DISTRIBUTION SYSTEMS	Yes	10% off Catalog
			items. Line item
			bids are not
535384	*TROPICAL PARADISE INC	No	0
535390	TYSON PREPARED FOODS INC	Tyson	For districts
		confirms that	electing to use
		we will	direct delivery, the
		consider	facility must have
		extending	a loading dock.
		terms,	
		conditions,	
		and pricing	

4NS- Not to Specifications
1NL - Not low when unit price is calculated
4MO - Minimum order quantities too restrictive
3TQ - Taste quality of product unacceptable
8PS Failed to provide samples

## \*Confidential

Line		Award			Comidential			Extended
_			_			<u> </u>		
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR				*********			
1	UNSWEETENED		3TQ	CS	*HANKS BROKERAGE	500		
				00	CHURCHFIELD TRADING	500	647.00	\$0.00F.00
		Υ		cs	COMPANY	500	\$17.33	\$8,665.00
				cs	BYRNE BROTHERS FOODS, INC	500	\$18.24	\$9,120.00
							<b>V</b> 1012 1	40,120101
				CS	ROBBINS SALES COMPANY, INC.	500	\$18.98	\$9,490.00
	BARBECUE SAUCE, HICKORY SMOKED, LOW							
	SODIUM, 4/1 GAL		8PS	cs	BYRNE BROTHERS FOODS, INC	200	\$14.96	\$2,992.00
		Y	1	CS	*BRAUN BEEF CO INC	200		
					*MCLANE EXPRESS			
				CS	INCORPORATED	200		
					KEND FOODS ING	000	****	** ***
				CS	KENS FOODS INC	200	\$31.84	\$6,368.00

			1			1		
3	BEANS, PINTO, GRADE A		8PS	cs	DVDNE BROTHERS FOODS INC	500	\$17.52	\$0.760.00
3	BEANS, PINTO, GRADE A		842	L3	BYRNE BROTHERS FOODS, INC	300	\$17.52	\$8,760.00
		Υ		CS	*BUSH BROTHERS & COMPANY	500		
				-	CHURCHFIELD TRADING	500	624.06	\$40 E20 00
				CS	COMPANY	500	\$21.06	\$10,530.00
					THOU AND EVERENCE			
				cs	*MCLANE EXPRESS INCORPORATED	500		
					*CONAGRA FOODS			
				CS	INCORPORATED	500		
	BEANS, REFRIED, SMOOTH WITH WHOLE BEANS,							
4	VEGETARIAN, LOW SODIUM, NOT TO CONTAIN MORE THAN 200mg PER 1/2 CUP SERVING	Υ		cs	BASIC AMERICAN INC	800	\$19.04	\$15,232.00
	<b>3</b>							,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
				cs	BYRNE BROTHERS FOODS, INC	800	\$19.65	\$15,720.00
					*MCLANE EXPRESS			
				cs	INCORPORATED	800		
				cs	*CONAGRA FOODS INCORPORATED	800		
			'					
	CANINED HIELE SPARKLING ARRIVE OR SIMILAR							
	CANNED JUICE SPARKLING, APPLE OR SIMILAR							
5	FLAVORS, 100% JUICE, 24/12oz CANS	Υ		cs	*APPLE AND EVE	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Υ		CS	*APPLE AND EVE	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		CS CS	ENVY BRANDS	1000	\$11.24	\$11,240.00
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS *MCLANE EXPRESS	1000	\$11.24	\$11,240.00
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS *MCLANE EXPRESS INCORPORATED	1000	\$11.24 \$13.70	\$11,240.00 \$13,700.00
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5	FLAVORS, 100% JUICE, 24/12oz CANS  CANNED JUICE SPARKLING, FRUIT PUNCH OR	Y		cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
5		Y		CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000		
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS	1000		
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS	1000		
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			cs cs cs	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE	1000 1000 1000	\$13.70	\$13,700.00
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED	1000 1000 1000 1000	\$13.70	\$13,700.00
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
	CANNED JUICE SPARKLING, FRUIT PUNCH OR			CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILAR, 100% JUICE, 24/12oz CANS			CS CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
6	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILAR, 100% JUICE, 24/12oz CANS  CANNED JUICE SPARKLING, KIWI BERRY OR	Y		CS CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS	1000 1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
6	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILAR, 100% JUICE, 24/12oz CANS  CANNED JUICE SPARKLING, KIWI BERRY OR	Y		CS CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS	1000 1000 1000 1000 1000 1000	\$13.70 \$11.24	\$13,700.00 \$11,240.00
6	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILAR, 100% JUICE, 24/12oz CANS  CANNED JUICE SPARKLING, KIWI BERRY OR	Y		CS CS CS CS CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS  *MCLANE EXPRESS	1000 1000 1000 1000 1000 1000 1000	\$13.70 \$11.24 \$13.70	\$13,700.00 \$11,240.00 \$13,700.00
6	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILAR, 100% JUICE, 24/12oz CANS  CANNED JUICE SPARKLING, KIWI BERRY OR	Y		CS CS CS CS CS CS CS CS CS	ENVY BRANDS  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS *MCLANE EXPRESS INCORPORATED THE MASTERS DISTRIBUTION SYSTEMS  *APPLE AND EVE  ENVY BRANDS	1000 1000 1000 1000 1000 1000	\$13.70 \$11.24 \$13.70	\$13,700.00 \$11,240.00 \$13,700.00

	CANNED JUICE SPARKLING, WATERMELON STRAWBERRY OR SIMILAR FLAVORS, 100%						
8	JUICE, 24/12oz CANS	Υ	cs	*APPLE AND EVE	1000		
			CS	ENVY BRANDS	1000	\$11.24	\$11,240.00
			cs	*MCLANE EXPRESS INCORPORATED	1000		
				THE MASTERS DISTRIBUTION			
			CS	SYSTEMS	1000	\$13.70	\$13,700.00
	CANNED JUICE SPARKLING, TROPICAL						
9	PINEAPPLE OR SIMILAR FLAVOR, 100% JUICE 24/12oz CANS	Υ	cs	*APPLE AND EVE	1000		
			cs	ENVY BRANDS	1000	\$11.24	\$11,240.00
				*MCLANE EXPRESS		·	, ,
			CS	INCORPORATED THE MASTERS DISTRIBUTION	1000		
			CS	SYSTEMS	1000	\$13.70	\$13,700.00
	CEREAL, SWEETENED, CHOCOLATE COCOA FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR						
	PREFERRED, NO MORE THAN 8 GRAMS SUGAR						
10	PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN CORN	Υ	cs	*BRAUN BEEF CO INC	2000		
10	THOLE GRAIN COM	· ·	00	DRAGN BEEF GO ING	2000		
			CS	*GENERAL MILLS SALES INC	2000		
				*MCLANE EXPRESS			
			CS	INCORPORATED	2000		
	CEREAL, SWEETENED, CINNAMON TOAST						
	FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 6 GRAMS SUGAR						
	PER BOWL, PRIMARY INGREDIENT MUST BE						
11	WHOLE GRAIN WHEAT	Υ	cs	*BRAUN BEEF CO INC	1500		
				CENEDAL MILLS CALED INC	4500		
-			CS	*GENERAL MILLS SALES INC	1500	-	
				*MOLANE EVEREGO			
			cs	*MCLANE EXPRESS INCORPORATED	1500		
	CEREAL, SWEETENED, FROSTED FLAKES			·			
	FLAVOR, BOWL PACK, NO MORE THAN 8 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST						
12	BE WHOLE GRAIN CORN	Y	cs	*BRAUN BEEF CO INC	1200		
				CENEDAL MILLS CALED INC	4200		
-			CS	*GENERAL MILLS SALES INC	1200		
				tuoi ANE EVENESS			
			cs	*MCLANE EXPRESS INCORPORATED	1200		
	CEREAL, SWEETENED, FRUIT FLAVOR RINGS,						
	BOWL PACK, PRIMARY INGREDIENT MUST BE WHOLE GRAIN OATS, GLUTEN FREE, NO						
13	ARTIFICIAL FLAVORS OR COLORS	Υ	cs	*BRAUN BEEF CO INC	1000		
			CS	*GENERAL MILLS SALES INC	1000		

		1	T	1		1	1	
				-00	*MCLANE EXPRESS	4000		
	CEREAL, SWEETENED, HONEY & NUT FLAVOR,			CS	INCORPORATED	1000		
	BOWL PACK, LOW SUGAR PREFERED, PRIMARY							
	INGREDIENT MUST BE WHOLE GRAIN OATS, GLUTEN FREE, NO ARTIFICIAL FLAVORS OR							
14	COLORS	Υ		cs	*BRAUN BEEF CO INC	500		
				CS	*GENERAL MILLS SALES INC	500		
				cs	*MCLANE EXPRESS INCORPORATED	500		
	CEREAL, SWEETENED, HONEY GRAHAM FLAVOR, BOWL PACK, LOW SUGAR PREFERED, PRIMARY							
	INGREDIENT MUST BE WHOLE GRAIN WHEAT, NO							
15	ARTIFICIAL FLAVORS OR COLORS, NO HIGH FRUCTOSE CORN SYRUP	Y		cs	*BRAUN BEEF CO INC	1500		
13	FROCTOSE CORN STRUP	, r		03	BRAON BEEF CO INC	1300		
				cs	*GENERAL MILLS SALES INC	1500		
					*MCLANE EXPRESS			
				cs	INCORPORATED	1500		
	CEREAL, SWEETENED, MARSHMALLOW FLAVOR, BOWL PACK, 96 CT, LOW SUGAR PREFERED,							
	PRIMARY INGREDIENT MUST BE WHOLE GRAIN							
16	OATS, GLUTEN FREE	Y		cs	*BRAUN BEEF CO INC	1000		
				cs	*GENERAL MILLS SALES INC	1000		
				US	GENERAL WILLS SALES INC	1000		
					*MOLANIE EXPRESS			
				cs	*MCLANE EXPRESS INCORPORATED	1000		
						1000		
					THE MASTERS DISTRIBUTION			
17	CHICKPEAS, RANCH FLAVOR, IW, 125/CASE	No Award		cs	SYSTEMS	500	\$54.00	\$27,000.00
				cs	GOOD SOURCE SOLUTIONS	500	\$59.25	\$29,625.00
				00	GOOD GOOKEL GOLOTIONS	300	ψ33.23	Ψ23,023.00
18	COFFEE, REGULAR GRIND, 8/3LB OR 8/39 OZ VACUUM CANS/CASE	Υ		cs	*MCLANE EXPRESS INCORPORATED	50		
10	VACOUM CANS/CASE	'		03	INCORPORATED	30		
				ce	BYRNE BROTHERS FOODS, INC	50	\$64.00	\$3,200.00
				CS	BTRNE BROTHERS FOODS, INC	30	\$64.00	\$3,200.00
	STUFFING MIX, MADE WITH A BLEND OF							
	CORNBREAD AND OTHER SPECIALTY BREADS, 51% WHOLE GRAIN, LARGE AND VARIED CUTS OF							
	BREAD COMBINED WITH CLELERY, ONION,							
19	HERBS, AND SEASONINGS, PREPARED WITH HOT WATER ONLY, NO TRANS FATS, 6/320Z	Υ		cs	*MCLANE EXPRESS INCORPORATED	500		
		,						
				cs	BYRNE BROTHERS FOODS, INC	500	\$35.00	\$17,500.00
<u> </u>				cs	SUGAR FOODS CORPORATION	500	\$50.51	\$25,255.00
					VENT PRESIDENT			
				cs	KENT PRECISION FOODS INCORPORATED	500	\$62.37	\$31,185.00
							Ţ02.01	ŢI.,.UU.U
	CRACKERS, SALTINE, 51% WHOLE GRAIN,							
20	INDIVIUALLY WRAPPED	Υ		CS	*BRAUN BEEF CO INC	1000		

	1		1	1		1		
				cs	SYSCO USA I INCORPORATED	1000	\$21.66	\$21,660.00
				cs	BYRNE BROTHERS FOODS, INC	1000	\$21.90	\$21,900.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
	CRANBERRIES, DRIED, SWEETENED, INDIVIUAL PACKAGES, WATERMELON FLAVOR, 2.50Z, NO							
21	ARTIFICIAL FLAVORS OR PRESERVATIVES		1NL	CS	NATIONAL FOOD GROUP INC	750	\$37.50	\$28,125.00
		Y		cs	BYRNE BROTHERS FOODS, INC	750	\$41.51	\$31,132.50
				cs	SYSCO USA I INCORPORATED	750	\$41.83	\$31,372.50
				cs	*MCLANE EXPRESS INCORPORATED	750		
				"		700		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	750	\$46.00	\$34,500.00
					*MCLANE EXPRESS			
22	CRANBERRY SAUCE, JELLIED, 6/#10 CANS	Υ		cs	INCORPORATED	150		
				cs	BYRNE BROTHERS FOODS, INC	150	\$39.25	\$5,887.50
							V.C.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
23	CROUTONS, LIGHTLY SEASONED, 51% WHOLE GRAIN, LARGE CUT		8PS	cs	BYRNE BROTHERS FOODS, INC	100	\$19.25	\$1,925.00
		Υ		cs	SUGAR FOODS CORPORATION	100	\$20.01	\$2,001.00
24	(CPT) DRESSING, CEASAR, DRY MIX	Y		cs	KENT PRECISION FOODS INCORPORATED	150	\$21.25	\$3,187.50
				cs	BYRNE BROTHERS FOODS, INC	150	\$38.50	\$5,775.00
25	DRESSING, ITALIAN, P.C. 12 GRAM, MUST BE	V			*MCLANE EXPRESS	400		
25	SHELF STABLE, 200/CS	ı		cs	INCORPORATED	100		
				cs	BYRNE BROTHERS FOODS, INC	100	\$10.28	\$1,028.00
	DRESSING, ITALIAN, P.C., 1 OZ, MUST BE SHELF							
26	STABLE, 100/CS		4MO	cs	KENS FOODS INC	100	\$9.65	\$965.00
		Y		CS	BYRNE BROTHERS FOODS, INC	100	\$18.00	\$1,800.00
27	FLOUR, ENRICHED, ALL PURPOSE, 5 OR 10 LB BAGS PREFERRED	Υ		BAG	BYRNE BROTHERS FOODS, INC	100	\$24.44	\$2,444.00
	FLOUR, WHOLE WHEAT, WHOLE WHITE WHEAT							
28	FLOUR PREFERRED, 5 OR 10# BAGS	Y		BAG	BYRNE BROTHERS FOODS, INC	100	\$15.64	\$1,564.00
29	FOOD COLORING, GREEN, QT PACK		1NL	EA	*MCLANE EXPRESS INCORPORATED	50		
23	OSSAINO, ONEEN, STI MOR		2.16		International Control			
		Υ		EA	BYRNE BROTHERS FOODS, INC	50	\$49.50	\$2,475.00

30	FRUIT COCKTAIL, EXTRA-LIGHT SYRUP OR PACKED IN JUICE, FANCY, 6/#10 CANS		зто	cs	ROBBINS SALES COMPANY, INC.	2000	\$24.50	\$49,000.00
- 30	FACRED IN SOICE, FANCT, W#TO CAINS		31Q				\$24.50	\$49,000.00
		Y		CS	*HANKS BROKERAGE	2000		
				cs	BYRNE BROTHERS FOODS, INC	2000	\$25.92	\$51,840.00
					CHURCHFIELD TRADING			,
				cs	COMPANY	2000	\$28.62	\$57,240.00
					*MCLANE EXPRESS			
				CS	INCORPORATED	2000		
	FRUIT CUPS, INDIVIDUALLY PACKAGED, SHELF							
24	STABLE, 4.5 OZ (1/2 CUP), JUICE PACKED, FANCY, 96/CS OR SIMILAR			cs	DVDNE DDOTHERS FOODS INC	500	\$14.73	\$7.26E.00
31	90/CS OR SIMILAR		1NL	US	BYRNE BROTHERS FOODS, INC	500	\$14.73	\$7,365.00
			4NS	cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$24.00	\$12,000.00
			1145		0.0.20		<b>42</b>	<b>4.2</b> ,000.00
		Y		cs	NATIONAL FOOD GROUP INC	500	\$32.40	\$16,200.00
				cs	GOOD SOURCE SOLUTIONS	500	\$32.99	\$16,495.00
						333	¥5=155	****
32	GRANOLA, BULK, GLUTEN FREE, NO WHEAT INGREDIENTS, NO SOY PREFERRED		370	cs	*BRAUN BEEF CO INC	500		
32	INGREDIENTS, NO SOT FREI ERRED		3TQ	- 63	BRAON BEEF CO INC	300		
					*MCLANE EXPRESS			
			8PS	CS	INCORPORATED	500		
					THE MASTERS DISTRIBUTION			
		Υ		CS	SYSTEMS	500	\$57.30	\$28,650.00
	GRANOLA, INDIVIDUALLY PACKAGED, 51%			CS	BYRNE BROTHERS FOODS, INC	500	\$66.75	\$33,375.00
	WHOLE GRAIN, LOW FAT, GLUTEN FREE, NO WHEAT INGREDIENTS, PLAIN AND FLAVOR							
33	VARIETIES		8PS	cs	BYRNE BROTHERS FOODS, INC	800	\$20.99	\$16,792.00
					OUUDOUEE D TRADING			
			4NS	cs	CHURCHFIELD TRADING COMPANY	800	\$28.62	\$22,896.00
		Y		cs	ES FOODS	800	\$31.50	\$25,200.00
				cs	*MCLANE EXPRESS INCORPORATED	800		
				1				
				cs	THE MASTERS DISTRIBUTION SYSTEMS	800	\$62.50	\$50 000 00
				- 63	O : O I LIVIO	000	<b>Φ02.3</b> U	\$50,000.00
					CHURCHFIELD TRADING			
-				CS	COMPANY *ALT	800	\$70.20	\$56,160.00
34	GRAPE JELLY, P.C., 1.5 OZ, SHELF STABLE		8PS	cs	BYRNE BROTHERS FOODS, INC	2500	\$6.50	\$16,250.00
					*MCLANE EXPRESS			
		Υ		cs	INCORPORATED	2500		

CS SMUCKER FOODSERVICE INC 2500 \$9.66  THE MASTERS DISTRIBUTION CS SYSTEMS 2500 \$16.00  GRAVY MIX, COUNTRY STYLE, NO TRANS FAT, NO MORE THAN 250 MG SODIUM, ADD WATER	\$24,150.00 \$40,000.00
THE MASTERS DISTRIBUTION CS SYSTEMS 2500 \$16.00 GRAVY MIX, COUNTRY STYLE, NO TRANS FAT,	
GRAVY MIX, COUNTRY STYLE, NO TRANS FAT,	\$40,000 00
	¥ 70,000.00
35 ONLY, 6/24 OZ. Y CS *C H GUENTHER & SON INC 1000	
CUSTOM CULINARY	
CS INCORPORATED 1000 \$17.25	\$17,250.00
CS BYRNE BROTHERS FOODS, INC 1000 \$18.35	\$18,350.00
	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
CS *BRAUN BEEF CO INC 1000	
*MCLANE EXPRESS	
CS INCORPORATED 1000	
HONEY 100% DURE US CRADE A DACKED 9 1/2	
HONEY, 100% PURE, US GRADE A, PACKED 8 1/2  36 GAL. OR SIMILAR  Y  BYRNE BROTHERS FOODS, INC 300 \$87.00	\$26,100.00
JALAPENO PEPPERS, NACHO SLICED, DOMESTIC	
37 PACK IN WATER OR NATURAL JUICE, 6/#10 CANS Y CS *HANKS BROKERAGE 300	
*MCLANE EXPRESS	
CS INCORPORATED 300	
CHURCHFIELD TRADING	** ***
CS COMPANY 300 \$20.41	\$6,123.00
00 +554444 5555 00 440	
CS *BRAUN BEEF CO INC 300	
CS BYRNE BROTHERS FOODS, INC 300 \$23.35	\$7,005.00
*CONAGRA FOODS	<b>\$1,000.00</b>
CS INCORPORATED 300	
JUICE, APPLE, 100% JUICE, SHELF STABLE, 4.23 *HARVEST HILL BEVERAGE	
38 OZ. 44/CS. Y CS COMPANY 500	
CS *APPLE AND EVE 500 THE MASTERS DISTRIBUTION	
CS SYSTEMS 500 \$6.79	\$3,395.00
CS *CAL-TEX CITRUS JUICE LLP 500 *MCI ANE EXPRESS	
CS INCORPORATED 500	
JUICE, ORANGE OR SIMILAR, 100% JUICE, SHELF *HARVEST HILL BEVERAGE	
39 STABLE, 4.23 OZ. 44/CS. Y CS COMPANY 500	
CS *APPLE AND EVE 500 THE MASTERS DISTRIBUTION	
CS SYSTEMS 500 \$6.79	\$3,395.00
*MCLANE EXPRESS CS INCORPORATED 500	
CS *CAL-TEX CITRUS JUICE LLP 500	
***	
JUICE, VEGETABLE & FRUIT BLEND, SHELF *HARVEST HILL BEVERAGE	
40 STABLE, 4.23 OZ., 40/CASE Y CS COMPANY 500	
CS *APPLE AND EVE 500	
CS *CAL-TEX CITRUS JUICE LLP 500	

	1				1	1 1	1	
				cs	BYRNE BROTHERS FOODS, INC	500	\$10.00	\$5,000.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$10.75	\$5,375.00
				cs	*BRAUN BEEF CO INC	500		
	MANDARIN ORANGES, WHOLE SEGMENTS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK,							
41	6/#10 CANS		3TQ	CS	ROBBINS SALES COMPANY, INC.	5000	\$24.88	\$124,400.00
			8PS	cs	BYRNE BROTHERS FOODS, INC	5000	\$27.12	\$135,600.00
		Υ		cs	*HANKS BROKERAGE	5000		
				cs	GOOD SOURCE SOLUTIONS	5000	\$27.99	\$139,950.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	5000	\$28.55	\$142,750.00
					0.0.20	0000	<b>\$20.00</b>	<b>V</b> 12,100.00
				cs	*BRAUN BEEF CO INC	5000		
				cs	*MCLANE EXPRESS INCORPORATED	5000		
42	MANDARIN ORANGE CUPS, PACKED IN JUICE, 4.5 OZ, 72/CS		4NS	cs	THE MASTERS DISTRIBUTION SYSTEMS	750	\$22.00	\$16,500.00
		Υ		cs	NATIONAL FOOD GROUP INC	750	\$32.40	\$24,300.00
				cs	GOOD SOURCE SOLUTIONS	750	\$32.99	\$24,742.50
	CHERRIES, MARASCHINO HALVES, 6/ 1/2 GAL				*MCLANE EXPRESS			,
43		Υ		CN	INCORPORATED	200		
	MAYONNAISE, LIGHT, P.C., 12 GR, ORDERED IN			CN	BYRNE BROTHERS FOODS, INC *MCLANE EXPRESS	200	\$45.00	\$9,000.00
44	SMALLER QUANTITIES, 75 CS PER ORDER	Υ		cs	INCORPORATED	800		
				cs	BYRNE BROTHERS FOODS, INC	800	\$14.00	\$11,200.00
45	MAYONNAISE, LIGHT, 4/1 GAL	Υ		cs	*BRAUN BEEF CO INC	400		
				cs	*MCLANE EXPRESS INCORPORATED	400		
				cs	KENS FOODS INC	400	\$22.90	\$9,160.00
				CS	BYRNE BROTHERS FOODS, INC	400	\$25.32	\$10,128.00
46	MEAL BREAKS, CHICKEN SALAD, PRE- PACKAGED MEALS FOR LUNCH, SHELF STABLE	Υ		cs	ES FOODS	500	\$54.00	\$27,000.00
				cs	*BRAUN BEEF CO INC	500		
					THE MASTERS DISTRIBUTION			
				CS	SYSTEMS	500	\$59.70	\$29,850.00

47	MEAL BREAKS, CHEESE SPREAD CUP WITH VEGGIE JUICE, PRE-PACKAGED MEALS FOR LUNCH, SHELF STABLE	Y	cs	ES FOODS	800	\$54.00	\$43,200.0
							, ,
			cs	*BRAUN BEEF CO INC	800		
			cs	THE MASTERS DISTRIBUTION SYSTEMS	800	\$59.70	\$47,760.
	MEAL BREAKS, CHEESE AND BEEF STICKS, PRE-						
48	PACKAGED MEALS FOR SUPPER, SHELF STABLE	Υ	cs	ES FOODS	800	\$54.00	\$43,200.
			ce	THE MASTERS DISTRIBUTION	200	<b>\$50.70</b>	647.760
			CS	SYSTEMS	800	\$59.70	\$47,760.
49	MEAL BREAKS, CHIPS & DIPS, PRE-PACKAGED MEALS FOR SUPPER, SHELF STABLE	Υ	cs	ES FOODS	800	\$54.00	\$43,200.
			cs	*BRAUN BEEF CO INC	800		
				THE MASTERS DISTRIBUTION			
			CS	SYSTEMS	800	\$59.70	\$47,760.
50	MEAL BREAKS, FIESTA LIME BEAN DIP CUP, PRE- PACKAGED MEALS FOR SUPPER, SHELF STABLE	Y	CS	ES FOODS	500	\$54.00	\$27,000.
30	TAGRAGED INCAEGO TON GOTTEN, OTHER GTABLE	'		2010000	300	\$34.00	<b>\$21,000.</b>
			cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$59.70	\$29,850.
	MIX, TURKEY GRAVY, ADD WATER ONLY, NO		-	*DRAUN DESERVE	000		
51	TRANS-FATS	Υ	cs	*BRAUN BEEF CO INC	200		
			cs	*MCLANE EXPRESS INCORPORATED	200		
			cs	*C H GUENTHER & SON INC	200	\$18.80	\$3,760.
						,	

	T	1	1	1	T	1		
					KENT BRECISION FOODS			
				cs	KENT PRECISION FOODS INCORPORATED	200	\$20.50	\$4,100.00
				cs	CUSTOM CULINARY INCORPORATED	200	\$27.15	\$5,430.00
				- 00	INCOM ORATED	200	Ψ27.13	ψ5,450.00
	MUFFIN OR QUICK BREAD MIX, 51% WHOLE							
52	GRAIN, JUST ADD WATER, VARIETY USE		8PS	cs	BYRNE BROTHERS FOODS, INC	500	\$23.25	\$11,625.00
		Y		CS	*C H GUENTHER & SON INC	500		
				cs	*BRAUN BEEF CO INC	500		
					BRACK BEEF CO INC	555		
				cs	SYSCO USA I INCORPORATED	500	\$50.18	\$25,090.00
	MUSTARD, INDIVIDUAL P.C., FANCY, 4.5 GRAM,			00	DVDNE DDOTHEDS FOODS INC	500	65.45	\$0.70F.00
53	500/CS	Υ		CS	BYRNE BROTHERS FOODS, INC	500	\$5.45	\$2,725.00
					*MCLANE EXPRESS			
				cs	INCORPORATED	500		
54	CREAMER, NON-DAIRY, P.C.	Υ		CS	BYRNE BROTHERS FOODS, INC	75	\$24.00	\$1,800.00
				cs	*MCLANE EXPRESS INCORPORATED	75		
	OATMEAL BARS, STRAWBERRY, 51% WHOLE				*MCLANE EXPRESS			
55	GRAIN, INDIVIDUALLY PACKAGED, SOFT		4NS	cs	INCORPORATED	750		
			000	-00	DVDNE DDOTUEDO FOODO INO	750	<b>*</b> 00.00	£04 750 00
			8PS	CS	BYRNE BROTHERS FOODS, INC	750	\$29.00	\$21,750.00
		Υ		cs	NATIONAL FOOD GROUP INC	750	\$39.60	\$29,700.00
					THE MASTERS DISTRIBUTION			
				CS	SYSTEMS	750	\$47.60	\$35,700.00
56	(CPT) OLIVE OIL BLEND, 6/1 GAL	Υ		cs	BYRNE BROTHERS FOODS, INC	50	\$51.00	\$2,550.00
				cs	*MCLANE EXPRESS INCORPORATED	50		
	PAN RELEASE, AEROSAL, HIGH YIELD, MINIMUM 90% OIL, NO WATER, GRAIN ALCOHOL, SALT, OR							
	INORGANIC COMPOUNDS, ZERO CALORIES PER				100W 0D 1 F00F 5			
57	SPRAY, NO CFC'S OR ADDED TRANS-FATS, 6/14 OZ/CS		4NS	cs	*CONAGRA FOODS INCORPORATED	800		
-			8PS	CS	BYRNE BROTHERS FOODS, INC	800	\$17.18	\$13,744.00
		Υ		cs	PARWAY TRYSON	800	\$17.50	\$14,000.00
					THE CORE GROUP SOUTHWEST	605	***	<b>645 055 5</b>
<u> </u>	1	<u> </u>	I	CS	INC	800	\$18.87	\$15,096.00

		l	1	1	I	I		
					*MCLANE EXPRESS			
				cs	INCORPORATED	800		
	(CPT) PASTA, ROTINI, 51% WHOLE GRAIN, 2/160							
58	OZ BAGS/CS	Υ		cs	*BARILLA AMERICA INC	300		
				cs	*MCLANE EXPRESS INCORPORATED	300		
				00	INCOM CHATES	000		
	(CPT) PASTA, PENNE, 51% WHOLE GRAIN, 1 1/2"							
59	IN SIZE, 2/160 OZ BAGS/CS	Υ		CS	*BARILLA AMERICA INC	500		
					***************************************			
				cs	*MCLANE EXPRESS INCORPORATED	500		
	SPAGHETTI, 51% WHOLE GRAIN, 2/160 OZ				+D+D#+++++ED#++	4000		
60	BAGS/CS	Y		cs	*BARILLA AMERICA INC	1000		
					*MCLANE EXPRESS			
				cs	INCORPORATED	1000		
	PEACHES, SLICED, EXTRA LIGHT SYRUP OR							
61	NATURAL JUICE PACK, GRADE B, 6/#10 CANS/CS		3TQ	cs	*BRAUN BEEF CO INC	5000		
			3TQ	cs	*HANKS BROKERAGE	5000		
			3TQ	CS	GOOD SOURCE SOLUTIONS	5000	\$24.29	\$121,450.00
		Υ		cs	CHURCHFIELD TRADING COMPANY	5000	\$24.64	\$123,200.00
		ı		00	COMPANT	3000	\$24.04	ψ123,200.00
				cs	ROBBINS SALES COMPANY, INC.	5000	\$24.98	\$124,900.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	5000	\$25.70	\$128,500.00
				cs	BYRNE BROTHERS FOODS, INC	5000	\$27.36	\$136,800.00
	PEARS, DICED, BARTLETT, GRADE B, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK.							
62	6/#10/CS		4MO	CS	BYRNE BROTHERS FOODS, INC	2000	\$20.64	\$41,280.00
		Υ		cs	*HANKS BROKERAGE	2000		
				cs	*BRAUN BEEF CO INC	2000		
				CS	ROBBINS SALES COMPANY, INC.	2000	\$22.48	\$44,960.00
				cs	GOOD SOURCE SOLUTIONS THE MASTERS DISTRIBUTION	2000	\$23.45	\$46,900.00
				cs	SYSTEMS	2000	\$25.00	\$50,000.00
					CHURCHFIELD TRADING			
				CS	COMPANY	2000	\$25.38	\$50,760.00
63	PEAS, BLACKEYED, DRY PEAS REHYDRATED AND CANNED, FANCY, 6/#10 CANS/CS	Υ		cs	*BUSH BROTHERS & COMPANY	1000		
- 50	THE STATE OF THE S				TO COMMENT	.300		
				cs	BYRNE BROTHERS FOODS, INC	1000	\$20.76	\$20,760.00
				- 55	2 BROTTLEROT OODS, INC	7000	Ψ20.10	ψ±0,1 00.00
				cs	CHURCHFIELD TRADING COMPANY	1000	\$21.58	\$24 590 00
				US.	COMPANI	1000	<b>⊅∠1.38</b>	\$21,580.00
					*MCLANE EXPRESS	4655		
	<u> </u>	]	1	CS	INCORPORATED	1000		

64	PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1 OZ SERVING, 4/1 GAL/CS	Υ		cs	BYRNE BROTHERS FOODS, INC	800	\$17.92	\$14,336.00
65	PINEAPPLE TIDBITS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE A, PRODUCT OF USA PREFERRED, 6/#10 CANS/CS	Υ		cs	ROBBINS SALES COMPANY, INC.	2500	\$18.68	\$46,700.00
				cs	*BRAUN BEEF CO INC	2500		
				CS	*HANKS BROKERAGE	2500		
				cs	CHURCHFIELD TRADING COMPANY	2500	\$20.89	\$52,225.00
				CS	GOOD SOURCE SOLUTIONS	2500	\$21.45	\$53,625.00
				cs	BYRNE BROTHERS FOODS, INC	2500	\$22.68	\$56,700.00
					THE MASTERS DISTRIBUTION			
				cs	SYSTEMS	2500	\$23.00	\$57,500.00
				cs	CHURCHFIELD TRADING COMPANY *ALT	2500	\$23.92	\$59,800.00
	POTATOES, INSTANT, PREMIUM PEARLS, NO TRANS FATS, VEGETARIAN, GLUTEN FREE, NO						,	, , , , , , , , , , , , , , , , , , , ,
66	MORE THAN 350mg OF SODIUM PER SERVING, 10/29.3 OZ POUCHES/CS		3TQ	cs	*MCLANE EXPRESS INCORPORATED	3000		
		Y		CS	BASIC AMERICAN INC	3000	\$40.55	\$121,650.00
				cs	BYRNE BROTHERS FOODS, INC	3000	\$41.00	\$123,000.00
07	PUDDING CUP, CHOCOLATE, INDIVIUALLY			00	*CONAGRA FOODS	500		
67	PACKAGED	Y		cs	*MCLANE EXPRESS	500		
				CS	INCORPORATED	500		
				cs	BYRNE BROTHERS FOODS, INC	500	\$19.60	\$9,800.00
68	PUDDING CUP, VANILLA, INDIVIDUALLY PACKAGED		8PS	cs	BYRNE BROTHERS FOODS, INC	500	\$12.20	\$6,100.00
		Υ		cs	*CONAGRA FOODS INCORPORATED	500		
				cs	*MCLANE EXPRESS INCORPORATED	500		
60	RAISINS, GOLDEN, SOUR STRAWBERRY, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ			ce	*MCLANE EXPRESS	1000		
69	BOX, 144/CS	Υ		cs	INCORPORATED	1000		
				cs	BYRNE BROTHERS FOODS, INC	1000	\$46.75	\$46,750.00
70	RAISINS, INDIVIDUAL, 1.33 OZ BOX, 144/CS OR SIMILAR	Y		cs	*MCLANE EXPRESS INCORPORATED	1500		
				cs	DVDNE DDOTHEDS FOODS INC.	1500	\$30.24	\$45,360.00
				- 03	BYRNE BROTHERS FOODS, INC CHURCHFIELD TRADING	1300	φ30.24	φ+υ,υσυ.υυ
				CS	COMPANY	1500	\$34.46	\$51,690.00
1				cs	NATIONAL FOOD GROUP INC	1500	\$36.00	\$54,000.00
							1	

71	RANCH (BUTTERMILK) DRESSING, DRY MIX, NO MORE THAN 50mg SODIUM PER SERVING SIZE, NO ARTIFICIAL COLORS OR FLAVORS, 18 PKGS/CS	Y		cs	KENT PRECISION FOODS	400	\$16.40	\$6,560.00
				cs	BYRNE BROTHERS FOODS, INC	400	\$32.57	\$13,028.00
	RICE, BROWN, INFUSED, MEXICAN FLAVOR, 51%							
72	WHOLE GRAIN, PARBOILED, PRE-SEASONED, QUICK PREPARATION TIME		4NS	cs	*MCLANE EXPRESS INCORPORATED	2000		
					KENT PRECISION FOODS			
			4NS	CS	INCORPORATED	2000	\$23.00	\$46,000.00
							****	
		Υ		cs	BYRNE BROTHERS FOODS, INC	2000	\$25.00	\$50,000.00
					THE MASTERS DISTRIBUTION			*******
	RICE, BROWN, INFUSED, PILAF STYLE, 51%			CS	SYSTEMS	2000	\$28.17	\$56,340.00
70	WHOLE GRAIN PARBOILED, ROASTED CHICKEN FLAVOR, PRE-SEASONED, QUICK PREPARATION			00	THE MASTERS DISTRIBUTION	4500	<b>64440</b>	\$00 F0F 00
73	TIME		4NS	CS	SYSTEMS	4500	\$14.13	\$63,585.00
			8PS	cs	BYRNE BROTHERS FOODS, INC	4500	\$22.64	\$101,880.00
			ors	03	BTRNE BROTTLERS FOODS, INC	4500	\$22.04	\$101,000.00
		Υ		cs	*MCLANE EXPRESS INCORPORATED	4500		
	RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN,			00	MOSKI SKATES	4000		
74	PARBOILED, 25# BAGS, UNCLE BEN'S OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC	300	\$10.98	\$3,294.00
				cs	*MCLANE EXPRESS INCORPORATED	300		
				- 55				
				cs	INDIAN HARVEST SPECIALTIFOODS INC	300	\$22.50	\$6,750.00
75	SALAD OIL, VEGETABLE	Υ		cs	BYRNE BROTHERS FOODS, INC	300	\$46.00	\$13,800.00
	(CPT) SAUCE, BUFFALO WING, BLEND OF							
76	CAYENE PEPPER AND VINEGAR	NA		cs	KENS FOODS INC	100	\$32.15	\$3,215.00
				CS	BYRNE BROTHERS FOODS, INC	100	\$34.00	\$3,400.00
77	SAUCE, THAI CHILI, 6/33.8 OZ./CASE	Y		cs	BYRNE BROTHERS FOODS, INC	50	\$26.00	\$1,300.00
	OAGGE, THAI CHIEF, 0/33.0 GENCAGE	ı		00	BINNE BROTTLEROT GODG, INC	30	\$20.00	Ψ1,500.00
				cs	CHEFS CORNER FOODS	50	\$49.88	\$2,494.00
	SEASONING, TOASTED ONION & GARLIC, NO SALT, NO SUGAR, NO MSG, 6/16 OZ/CS, CHEF							
78	PAUL SEASONING BLEND OR EQUAL	Υ			BYRNE BROTHERS FOODS, INC	50	\$49.00	\$2,450.00
70	SEASONING, PIZZA & PASTA MAGIC, LOW SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL				DVDNE DDOTUEDS FOODS WA	FO	\$40.00	\$2,450.00
79	MAGIC SEASONING BLEIND OR EQUAL	Υ			BYRNE BROTHERS FOODS, INC	50	\$49.00	\$2,450.00
	SEASONING PACKETS, FRUIT SEASONING,							
	CONTAINS CHILI PEPPERS, SALT AND DEHYDRATED LIME JUICE, NO MORE THAN							
80	130mg SODIUM PER 1 GRAM PACKAGE, TAJIN BRAND OR EQUAL.	Υ			BYRNE BROTHERS FOODS, INC	250	\$49.00	\$12,250.00
81	SLUSH DRINKS, BLUE RASPBERRY, 100% JUICE, SHELF STABLE, 60/CS.	Υ		cs	*TROPICAL PARADISE INC	1000		

	<u></u>			1	THE MASTERS DISTRIBUTION	1		
				cs	SYSTEMS	1000	\$19.20	\$19,200.00
82	SLUSH DRINKS, CHERRY LIMEADE, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS.	Υ		cs	*TROPICAL PARADISE INC	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$19.20	\$19,200.00
83	SLUSH DRINKS, KIWI STRAWBERRY, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF	Y		cs	*TROPICAL PARADISE INC	1000		,
	INDIVIDUALETT AGRAGED, 100 % 300.00E, GNEEL	·		cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$19.20	\$19,200.00
	SLUSH DRINKS, TROPICAL TRIO, INDIVIDUALLY						\$19.20	\$19,200.00
84	PACKAGED, 100% JUICE, SHELF STABLE, 60/CS	Y		CS	*TROPICAL PARADISE INC THE MASTERS DISTRIBUTION	1000		
				CS	SYSTEMS	1000	\$24.50	\$24,500.00
85	SLUSH DRINKS, DRAGON PUNCH, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT	Υ		cs	*TROPICAL PARADISE INC	1000		
86	ACCEPTED, INGREDIENT STATEMENT READS BEEF AND BEEF STOCK, ETC, 64 TO 1 CONCENTRATE, 12/1# CS	Y		cs	CUSTOM CULINARY INCORPORATED	500	\$23.61	\$11,805.00
				cs	BYRNE BROTHERS FOODS, INC	500	\$27.50	\$13,750.00
	SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO							,
	TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN,							
	INCLUDING NATURAL CHICKEN JUICES, CHICKEN				CUSTOM CULINARY			
87	FAT, ETC, 64 TO 1 CONCENTRATE, 12/1#/CS	Y		CS	INCORPORATED	500	\$19.76	\$9,880.00
				cs	BYRNE BROTHERS FOODS, INC	500	\$28.25	\$14,125.00
	SOUP BASE, CREAM, DRY MIX, NO TRANS FAT,			CS	BTRNE BROTHERS FOODS, INC	500	\$20.23	\$14,125.00
	NO MORE THAN 9 GRAMS OF FAT AND 950mg SODIUM PER SERVING, LOWER PREFERRED,							
88	6/28oz/CS		4MO	CS	*BRAUN BEEF CO INC	100		
		Υ		cs	*C H GUENTHER & SON INC	100		
					KENT PRECISION FOODS			
				cs	INCORPORATED	100	\$25.85	\$2,585.00
				cs	BYRNE BROTHERS FOODS, INC	100	\$26.00	\$2,600.00
				cs	CUSTOM CULINARY INCORPORATED	100	\$26.98	\$2,698.00
	SOY MILK, VANILLA, PACIFIC NATURAL FOOD OR							
89	SUNRICH BRANDS ONLY, 24/8 OZ/CS	Υ			BYRNE BROTHERS FOODS, INC	100	\$24.24	\$2,424.00
90	SOY SAUCE, LOWER SODIUM, NO MORE THAN 575mg PER TLB, 6/1/2 GAL PLASTIC BOTTLES/CS	Y		cs	*CONAGRA FOODS INCORPORATED	150		
- 30								
				cs	BYRNE BROTHERS FOODS, INC	150	\$18.52	\$2,778.00
91	SPICE, BLACK PEPPER, REGULAR GROUND, 5# CONTAINER		4NS	CN	BYRNE BROTHERS FOODS, INC	200	\$15.70	\$3,140.00
							Ţ.5.7 O	ÇG, 10.00
		Υ		CN	BADIA SPICE CO	200	\$16.30	\$3,260.00

	T	1	1	I	T	1		
	ARIAE ALIII DOWNER ARAUNA MILA RADUAT			CN	*MCLANE EXPRESS INCORPORATED	200		
92	SPICE, CHILI POWDER, GROUND, MILD ROBUST FLAVOR, AMERICAN MADE PRODUCT ONLY, 5# OR LESS CONTAINER	Υ		CN	BYRNE BROTHERS FOODS, INC	100	\$12.58	\$1,258.00
					,			, ,
				CN	BADIA SPICE CO	100	\$19.5275	\$1,952.75
				CN	*MCLANE EXPRESS INCORPORATED	100		
93	SPICE, CINNAMON, GROUND, 1# OR LESS CONTAINER	Υ		CN	BADIA SPICE CO	100	\$4.69	\$469.00
				CN	DVDNE DDOTHEDS EOODS INC	100	<b>\$</b> E 00	\$500.00
				CN	BYRNE BROTHERS FOODS, INC *MCLANE EXPRESS	100	\$5.00	\$500.00
				CN	INCORPORATED	100		
94	SPICE, CUMIN, GROUND, 1# OR LESS CONTAINER	Υ		EA	BADIA SPICE CO	100	\$3.4016	\$340.16
							4	
				EA	BYRNE BROTHERS FOODS, INC *MCLANE EXPRESS	100	\$5.00	\$500.00
				EA	INCORPORATED	100		
95	SPICE, GARLIC, GRANULATED, AMERICAN MADE PRODUCT ONLY, 5#	Υ		CN	BADIA SPICE CO	200	\$15.5525	\$3,110.50
				CN	BYRNE BROTHERS FOODS, INC	200	\$26.95	\$5,390.00
				CIV	*MCLANE EXPRESS	200	\$20.93	φ3,330.00
				CN	INCORPORATED	200		
96	SPICE, ONION, GRANULATED, AMERICAN MADE PRODUCT ONLY, 5#		4NS	cs	*MCLANE EXPRESS INCORPORATED	200		
		Y		cs	BYRNE BROTHERS FOODS, INC	200	\$17.00	\$3,400.00
		'		CS	BTRNE BROTTLERS FOODS, INC	200	\$17.00	<b>\$3,400.00</b>
	(CPT) SPICE, ITALIAN SEASONING, NO ADDED			cs	BADIA SPICE CO	200	\$51.72	\$10,344.00
97	SALT, AMERICAN MADE PRODUCT ONLY, 1# CONTAINERS	Υ		cs	BYRNE BROTHERS FOODS, INC	50	\$3.28	\$164.00
					*MCLANE EXPRESS			
				CS	INCORPORATED	50		
98	SPICE, PAPRIKA, LIGHT, 1 LB	Υ		CN	BADIA SPICE CO	75	\$3.3683	\$252.62
				CN	BYRNE BROTHERS FOODS, INC	75	\$4.48	\$336.00
				CN	*MCLANE EXPRESS INCORPORATED	75		
99	SPICE, PARSLEY, DRIED, 1 LB	Y		EA	BADIA SPICE CO	200	\$1.666	\$333.20
				EA	BYRNE BROTHERS FOODS, INC	200	\$6.74	\$1,348.00
				EA	*MCLANE EXPRESS INCORPORATED	200		
100	SPICE, PEPPER, RED CRUSHED, BULK	Y		cs	*MCLANE EXPRESS INCORPORATED	50		
				cs	BYRNE BROTHERS FOODS, INC	50	\$13.70	\$685.00
				cs	BADIA SPICE CO	50	\$38.90	\$1,945.00
			•		•			. ,

101	SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS	Y	cs	BYRNE BROTHERS FOODS, INC	200	\$13.22	\$2,644.00
			cs	*MCLANE EXPRESS INCORPORATED	200		
400	SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ		00	*MCLANE EXPRESS	1500		
102	BOTTLE	Y	CS	INCORPORATED	1500		
			CS	SYSCO USA I INCORPORATED	1500	\$10.06	\$15,090.00
	SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW		cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$11.45	\$17,175.00
103	CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y	cs	*MCLANE EXPRESS INCORPORATED	1500		
			cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$11.45	\$17,175.00
							-
			cs	KENT PRECISION FOODS INCORPORATED	1500	\$15.00	\$22,500.00
104	SPORTS DRINK, G2 ORANGE, LOW CALORIE, NO	v	Ce	*MCLANE EXPRESS	1500		
104	MORE THAN 10 CAL PER 20 OZ BOTTLE	Υ	CS	INCORPORATED	1500		
			cs	SYSCO USA I INCORPORATED	1500	\$10.06	\$15,090.00
			cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$11.45	\$17,175.00
			cs	KENT PRECISION FOODS INCORPORATED	1500	\$15.00	\$22,500.00
	SPORTS DRINK, G2 FRUIT PUNCH, LOW CALORIE,			*MCLANE EXPRESS			
105	NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y	CS	INCORPORATED	1500		
			CS	SYSCO USA I INCORPORATED	1500	\$10.06	\$15,090.00
			cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$11.45	\$17,175.00
			cs	KENT PRECISION FOODS INCORPORATED	1500	\$15.00	\$22,500.00
106	SPORTS DRINK, G2 LEMON-LIME, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y	cs	*MCLANE EXPRESS INCORPORATED	1500		
100		·					_
			CS	SYSCO USA I INCORPORATED	1500	\$10.06	\$15,090.00
			cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$11.45	\$17,175.00
			cs	KENT PRECISION FOODS INCORPORATED	1500	\$15.00	\$22,500.00
107	SRIRACHA HOT CHILI SAUCE, LOW SODIUM PREFERRED, 12/280Z./CASE. PLASTIC BOTTLES	Υ	cs	BADIA SPICE CO	150	\$12.62	\$1,893.00
107	THE ENGLOSE PLASTIC BOTTLES		- 03	BASIA OF ICE OO	130	\$12.02	ψ1,093.00
-		Υ	cs	BYRNE BROTHERS FOODS, INC	150	\$17.01	\$2,551.50
		Υ	cs	*MCLANE EXPRESS INCORPORATED	150		
			0				
		'					

Г		1		ı	T	ı		
				cs	CHEFS CORNER FOODS	150	\$50.00	\$7,500.00
108 SUGAR SUBSTITU	TE, P.C., 1 GR, 2000/CS	Y		cs	BYRNE BROTHERS FOODS, INC	20	\$24.00	\$480.00
109 SUGAR BROWN	25#	Y		cs	*MCLANE EXPRESS INCORPORATED	100		
103 GGAR BROWN	2011	1		00	INCORT CRATED	100		
				CS	BYRNE BROTHERS FOODS, INC	100	\$25.00	\$2,500.00
110 SUGAR, GRANULA	TED, P.C., 2.8 GR., 2000/CS	Υ		cs	*MCLANE EXPRESS INCORPORATED	100		
				cs	BYRNE BROTHERS FOODS, INC	100	\$16.50	\$1,650.00
111 SUGAR POWDERE	D 25#	Υ		cs	*MCLANE EXPRESS INCORPORATED	200		
				cs	BYRNE BROTHERS FOODS, INC	200	\$33.96	\$6,792.00
			1		*MCLANE EXPRESS		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	¥ 0,1 0 = 10 0
112 SUGAR WHITE 2	25#	Υ		SK	INCORPORATED	100		
SYRUP, PANCAKE	& WAFFLE, MAPLE FLAVOR,			sĸ	BYRNE BROTHERS FOODS, INC	100	\$23.00	\$2,300.00
P.C., 1.5 OZ CUP P CUPS/CS OR SIMIL	REFERRED, 100/1.5 OZ		8PS	cs	BYRNE BROTHERS FOODS, INC	4000	\$6.70	\$26,800.00
		Υ		cs	SMUCKER FOODSERVICE INC	4000	\$9.66	\$38,640.00
				cs	*MCLANE EXPRESS INCORPORATED	4000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	4000	\$14.00	\$56,000.00
	MIX, LOW SODIUM VARIETY,			CS	*BRAUN BEEF CO INC	4000		
NO MORE THAN 27 114 LB/CS	70mg SODIUM PER SERVING, 6	Υ		EA	BADIA SPICE CO	200	\$3.00	\$600.00
				EA	KENT PRECISION FOODS INCORPORATED	200	\$13.75	\$2,750.00
	ISPY, 51% WHOLE GRAIN			EA	BYRNE BROTHERS FOODS, INC	200	\$14.80	\$2,960.00
	TO 6" LONG, PACKAGED IN S, BOXED TO PREVENT RANS FAT		4MO	cs	TYSON PREPARED FOODS INC	300	\$11.40	\$3,420.00
BREARAGE, NO II				- 50		000	Ų:1. <del>7</del> 0	¥0,720.00
		Υ		cs	BYRNE BROTHERS FOODS, INC	300	\$12.34	\$3,702.00
116 TEA BAGS GOOD	QUALITY, 48/1 OZ OR 96/1 OZ	Y		cs	*MCLANE EXPRESS INCORPORATED	200		
H_A5/AGG, GGGB	COLETT, 10/1 0/2 0/1 30/1 0/2			- 50	THE STATE OF THE S			
				cs	BYRNE BROTHERS FOODS, INC	200	\$11.95	\$2,390.00
	ES, 51% WHOLE GRAIN, BROWN I, SINGLE PACK ONLY, DOUBLE							
117 NOT ACCEPTED, N		Υ		cs	SYSCO USA I INCORPORATED	1000	\$31.09	\$31,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				- 55	INCOM CHAILD	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$34.25	\$34,250.00

118	TOASTER PASTRIES, 51% WHOLE GRAIN, STRAWBERRY, SINGLE PACK ONLY, DOUBLE NOT ACCEPTED, NO SPRINKLES	Υ		cs	SYSCO USA I INCORPORATED	1000	\$31.09	\$31,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
119	TOMATOES, DICED, PACKED FROM FRESH TOMATOES ONLY, 6/#10 CANS/CS		зто	cs	CHURCHFIELD TRADING COMPANY	200	\$17.28	\$3,456.00
		Υ		cs	*MCLANE EXPRESS INCORPORATED	200		
				cs	*BRAUN BEEF CO INC	200		
				cs	*CONAGRA FOODS	200		
				cs	BYRNE BROTHERS FOODS, INC	200	\$23.70	\$4,740.00
120	TORTILLAS, CORN, SHELF STABLE, 300/CASE	Y		cs	*MCLANE EXPRESS INCORPORATED	800		
				cs	TYSON PREPARED FOODS INC	800	\$15.30	\$12,240.00
				cs	*BRAUN BEEF CO INC	800		
121	TORTILLA CHIPS, INDIVIDUAL BAGS, 80/CASE		4NS	CS	*BRAUN BEEF CO INC	1500		
		Υ		cs	*MCLANE EXPRESS INCORPORATED	1500		
		Y		cs cs		1500 1500	\$25.00	\$37,500.00
		Y			THE MASTERS DISTRIBUTION		\$25.00 \$32.87	\$37,500.00 \$49,305.00
	TORTILLA CHIPS, 51% WHOLE GRAIN CORN, UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO TRANS FAT, 3/2# BAG/CS	Y	зто	cs	THE MASTERS DISTRIBUTION SYSTEMS CHURCHFIELD TRADING	1500		. ,
	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO	Y	это	cs	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY	1500	\$32.87	\$49,305.00
	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO	Y	3TQ	CS CS	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY	1500	\$32.87	\$49,305.00
	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO		зто	CS CS	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY  BYRNE BROTHERS FOODS, INC	1500 1500 8000	\$32.87	\$49,305.00
	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO		зто	CS CS	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY  BYRNE BROTHERS FOODS, INC  *BRAUN BEEF CO INC  *MCLANE EXPRESS	1500 1500 8000	\$32.87	\$49,305.00
	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO		это	CS CS CS	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY  BYRNE BROTHERS FOODS, INC  *BRAUN BEEF CO INC  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION	1500 1500 8000 8000	\$32.87 \$6.40	\$49,305.00 \$51,200.00
122	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO		3TQ	cs cs cs	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY  BYRNE BROTHERS FOODS, INC  *BRAUN BEEF CO INC  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING	1500 1500 8000 8000	\$32.87 \$6.40 \$17.76	\$49,305.00 \$51,200.00 \$142,080.00
122	UNSALTED, PRE-FRIED IN VEGETABLE OIL, NO TRANS FAT, 3/2# BAG/CS			CS CS CS CS	THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY  BYRNE BROTHERS FOODS, INC  *BRAUN BEEF CO INC  *MCLANE EXPRESS INCORPORATED  THE MASTERS DISTRIBUTION SYSTEMS  CHURCHFIELD TRADING COMPANY  *MCLANE EXPRESS	1500 1500 8000 8000 8000	\$32.87 \$6.40 \$17.76	\$49,305.00 \$51,200.00 \$142,080.00

		1	, ,		1			
				cs	BYRNE BROTHERS FOODS, INC	1000	\$7.80	\$7,800.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				cs	BADIA SPICE CO	1000	\$10.53	\$10,530.00
	WATER, BOTTLED, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, TRUCKLOAD ORDERS, 24/16.9 OZ/CS, NESTLE PURE LIFE,							
125	OZARKA, OR OTHER NATIONAL BRAND PERFERRED	Υ		cs	NESTLE WATERS NORTH AMERICA	15000	\$2.80	\$42,000.00
				cs	*MCLANE EXPRESS INCORPORATED	15000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	15000	\$4.25	\$63,750.00
126	WATER, FLAVORED, NON-CARBONATED, BERRY FLAVOR, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR	Υ		cs	*MCLANE EXPRESS INCORPORATED	400		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	400	\$14.75	\$5,900.00
127	WATER, FLAVORED, NON-CARBONATED, LEMON FLAVOR, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR	Y		cs	*MCLANE EXPRESS INCORPORATED	400		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	400	\$14.75	\$5,900.00
	APPLE CRISPS, DRIED, NATURAL STRAWBERRY							
128	FLAVOR ADDED, NO ALLERGENS, 0.34 OZ PACKAGES, 125/0.34oz/CS	NA		cs	BARE FOODS CO	750	\$16.80	\$12,600.00
129	WATER, FLAVORED, NON-CARBONATED, WATERMELON FLAVOR, PROPEL OR SIMILAR	Υ		cs	*MCLANE EXPRESS INCORPORATED	400		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	400	\$14.75	\$5,900.00
130	APPLESAUCE CUP, CINNAMON, UNSWEETENED 96/CASE	Y		cs	PETERSON FARMS FRESH INCORPORATED	750	\$18.15	\$13,612.50
				cs	NATIONAL FOOD GROUP INC	750	\$21.60	\$16,200.00
				- 00		730	\$21.00	\$10,200.00
				cs	CHURCHFIELD TRADING COMPANY	750	\$22.58	\$16,935.00
				cs	BYRNE BROTHERS FOODS, INC	750	\$30.72	\$23,040.00
131	APPLESAUCE CUP, MANGO PEACH, UNSWEETENED 96/CASE	Y		cs	PETERSON FARMS FRESH INCORPORATED	750	\$18.15	\$13,612.50
				CS	NATIONAL FOOD GROUP INC	750	\$21.60	\$16,200.00
132	APPLESAUCE CUP, STRAWBERRY, UNSWEETENED 96/CASE	Y		cs	PETERSON FARMS FRESH INCORPORATED	500	\$18.15	\$9,075.00
				CS	NATIONAL FOOD GROUP INC	500	\$21.60	\$10,800.00
				cs	CHURCHFIELD TRADING COMPANY	500	\$22.58	\$11,290.00
				cs	BYRNE BROTHERS FOODS, INC	500	\$33.60	\$16,800.00

CEREAL, SWEETENED, CINNAMON TOAST FLAVOR, BULK PACKED, 4/45OZ.	Υ		cs	*GENERAL MILLS SALES INC	250		
			cs	*MCLANE EXPRESS INCORPORATED	250		
			- 00	INCOM CHAILE	200		
CEREAL, SWEETENED, FRUIT FLAVOR CORN							
134 PUFFS, BULK PACK, 4/32OZ.	Υ		cs	*GENERAL MILLS SALES INC	250		
				*MCLANE EXPRESS			
			cs	INCORPORATED	250		
CEREAL, SWEETENED, MARSHMALLOW FLAVOR, 135 BULK BACKED, 4/350Z.	Υ		cs	*GENERAL MILLS SALES INC	250		
BOER BACKED, 4/3502.	ľ		03	GENERAL WILLS SALES INC	230		
				*MCLANE EXPRESS			
			CS	INCORPORATED	250		
CEREAL CWEETENER HONEY & MUT ELANGE							
CEREAL, SWEETENED, HONEY & NUT FLAVOR, 136 BULK PACKED, 4/390Z.	Υ		cs	*GENERAL MILLS SALES INC	250		
				*MCLANE EXPRESS	250		
			cs	INCORPORATED	250		
				*MCLANE EXPRESS			
137 HAPPY BIRTHDAY COOKIE, IW, 160/CASE		1NL	cs	INCORPORATED	600		
	Y-ALT		cs	*BRAUN BEEF CO INC	600		
			CS	SYSCO USA I INCORPORATED	600	\$34.38	\$20,628.00
138 GRAHAM CRACKERS, HAPPY BIRTHDAY FLAVOR.	Υ		cs	NATIONAL FOOD GROUP INC	400	\$44.00	\$17,600.00
GREEN BEANS, CANNED. US GRADE B OR							
139 BETTER. REGULAR CUT-ONE INCH OR LONGER.	Υ		CS	BYRNE BROTHERS FOODS, INC	500	\$19.50	\$9,750.00
				PD AUN DEEF OC ""	500		
			CS	*BRAUN BEEF CO INC	500		
			cs	CHURCHFIELD TRADING COMPANY	500	\$19.65	\$9,825.00
			1	*MCLANE EXPRESS			, : ,==:30
			cs	INCORPORATED	500		
SAUCE, HONEY FIRE FLAVOR. CHEF'S CORNER- 140 2173 or equal.	Υ		cs	CHEFS CORNER FOODS	300	\$45.00	\$13,500.00
			cs	ASIAN FOOD SOLUTIONS	300	\$49.50	\$14,850.00
					.,,	,	, ,222.30
SAUCE, KOREAN BBQ. CHEF'S CORNER #OFC-							
141 2176 OR EQUAL. SHELF STABLE.		3TQ	CS	KENS FOODS INC	500	\$33.00	\$16,500.00
			cs	CHEFS CORNER FOODS	500	<b>650.00</b>	¢05 000 00
	Υ		U3	CHEFS CORNER FOODS	500	\$50.00	\$25,000.00